# oo == H ==
* 2 & H o Ik % #®m &H F  (FX) S s AGE.
4 £ 3 A 4 H (&ER AR FE AR X [N ik EfE - HE - TE GHER RO G HERMESEE 5 T)
o & TEE M i ﬁg& TRl fg U] @ mxﬁgé’l - - {%1‘ Y 4-15(@51' N - ﬁgﬁ ﬂLszﬂ_;l _—
KR L JH 80 850 850 | 10.00 864
= 70 700 700 10. 00 1,512 1,404
(&h) 150 1,550 1,550
P B = 4 40 40| 10.00 2,484 1,728
(D) 4 40 40
EHEAE EH 409 4,090 4,090 | 10.00 1,296 432
(&H) 409 4,090 4,090
3 575 10 100 100 10. 00 2,214
= Iy 10 25 25 2.50 1,107
GH 20 125 125
EAR = 10 60 60 5. 00 1,512 1,080
(&H) 10 60 60
(¥ = I 251 3,765 1,500 2, 265 15. 00 886 1,080 918
R 100 1,500 1,500 15. 00 702
(1) 351 5,265 1,500 3,765
F oy Y gagl 502 5,170 5,170 | 10.00 1,058
(&) 502 5,170 5,170
FHohAE EE 1,236 494 494 .40 157 89
B 50 200 200 4.00 2,160 2,052
& 240 48 48 . 20 92 76
BRE 11 44 44 4.00 2,160
(&H) 1,537 786 494 292
=5 FE 1,104 150 150 .10 162 130
i 12 60 60 5. 00 3, 456 1,944
(&) 1,116 210 150 60
“hE PN 101 6 6 . 04 486
=] 120 12 12 .10 92
= 300 30 30 .10 86 65
(3h) 521 48 48
HZ B 11 33 33 3.00 1,728 1,620
BEIRE 76 228 228 3.00 1,620 1,404
o ] 15 45 45 3.00 687
(&) 102 306 45 261




= H T 3
+ g on H D Hy 7% %E( = % (%’7&) B U5 T 5 S 2 T 4 PAGE. .
e BT *E E RNl | wwemm  po z d e o 2 & Yo s o
5 = 1, 800 180 30 150 .10 99 89 97
(zh) 1,800 180 30 150
v PN 60 84 84 1.40 432 378
(h) 60 84 84
E5 L& 650 155 135 20 .10 86 49 54 43
IR 180 36 36 . 20 76
(zh) 830 191 135 56
K EJE 145 58 58 .40 113 86
B 430 86 56 30 .20 83 81 76
(h) 575 144 114 30
I2=52 fE 185 74 74 .40 216 119
(Gt) 185 74 74
B FLJEE 1,010 404 404 . 40 135 81
wE 90 18 18 . 20 86
Fe 250 50 50 .20 86 76
E I 250 50 50 .20 89
() 1, 600 522 454 68
ForUE B 10 20 20 2.00 972
() 10 20 20
HMEXRY #5 40 4 4 .10 103
E 180 27 27 .15 76
() 220 31 31
T we 30 60 60 2.00 1,188 1,080
p=a) 962 298 298 .30 2,484 2,376
(iH 992 358 358
k= R B 129 516 72 444 4.00 1, 605 1,550 1,512 1,026
(h 129 516 72 444
A e 213 1,080 150 930 5.00 1,771 2,484
=l 52 260 260 5.00 1,728 1.512
(zH) 265 1, 340 150 1,190
MEb o U— 333 3,330 3,330 | 10.00 1,620 616
(£H) 333 3,330 3, 330
B =51 120 18 18 .15 113




* £ & H o2 W® & F (FX) ]
[E i T 22 3% 4 5 #D 5T T 45 PAGE. .
A % FEEM - ﬁfl.j‘,z A i}:é ol EE $Exﬂ‘E§§l R E g - :Hﬁ " LpHZﬂE%l _— = wfﬁﬂ ﬁ:—;-q HX{E%I .
=4 180 23 23 .13 117
& [H 3 15 15 5.00 3, 321
(1) 303 56 15 41
vih 1 390 23 17 6 .05 60 130 119
(EH) 390 23 17 6
xr 7 T4y 150 11 11 .07 76
GH 150 11 11
A p=3l| 3 6 4 2.00 4, 207 4,320
(Fh) 3 6 4
EpiE EIR 10 10 10 1.00 1,296
(1) 10 10 10
wE R 5 10 10 2.00 1,728
() 5 10 10
HiE B/ 31 6 30 30 5.00 1, 383
TE 3 15 15 5.00 1,716
EE 2 10 10 5.00 1, 296
(EH) 11 55 45 10
Ep=E ks B 148 1, 960 700 1,260 10. 00 2,712 2,269 1, 080
(&) 148 1, 960 700 1, 260
S iR 3 30 30 10. 00 3, 240
(81 3 30 30
®TF b 8 90 900 900 10. 00 2,916 1,080
AR 41 410 410 10. 00 2,878
GH) 131 1, 310 410 900
£z b8 156 3,120 300 2, 820 20. 00 b, 756 5,425 b,616 4,968
&% Il 20 200 200 10. 00 3,100
Hr [H 20 200 200 10. 00 1, 085
(&) 196 3,520 700 2,820
WAz < REYES| 30 30 30 1.00 302
(EhH) 30 30 30
boxxr ERE 60 .15 157
) 60
2y -~ 4% it 1 10 10 10. 00 4,104




= e 3 =%
F # & H B 52 W & F (FX) - PAGE.
B EEREN [ ﬁl&z o fﬁ i i *@**EF’ HEEEE B B i LFJHX@_%I e = éﬁ ;qm%m 7
(D) 1 10 10
T ANRT Ax o 650 65 65 10 72
(8D 650 65 65
Tuyal) fEE 8 48 48 6. 00 2,268
=) 85 510 510 6. 00 2, 808 2,052
GH 93 558 558
1P e 15 150 150 10. 00 3,024 2, 808
b= i) 5 25 25 5.00 2,052 1,728
IR E 70 700 700 | 10.00 1.512
(&H) 90 875 875
=1z FH 20 100 100 5. 00 1,620
12 [ 20 120 70 50 5.00 1, 993 1,944 1, 620
(8H) 40 220 70 150
Ly K KE 5 50 50 10. 00 1,404
(&6) 5 50 50
Y 5 i 2 10 10 5. 00 7,020 4,320
(&0) 2 10 10
T=br=+ KWL 318 74 74 .20 1, 728 1,620
=N 60 12 12 .20 162 157
BE A 96 288 54 234 3.00 2,048 2,160 1,674
(Gt 474 374 54 320
tAE = Al 993 93 93 .08 3. 456
=i 10 52 52 4.00 2,268
(GH) , 003 145 145
KRE FEA 40 4 4 .10 221
f= il 20 2 2 .10 432 378
(G 60 6 4 2
HE| WHE 260 13 13 .05 32
() 260 13 13
X oTt = 340 36 36 .10 270
(D) 340 36 36
N—TH M 96 .03 76
G 96




[E i T /2 3% 1 75 EN 52 T 5 PAGE.. 5

A % T EE & ﬁ%{ 7o A lj{d; el EE W%‘Eg%l ——— - ﬁ_gf U uHE)I@%I _ = ﬁgﬁ ﬁmﬁlﬁ—ggl _
EEHEY A= 80 4 4 .05 59
N= 50 5 5 .10 65
=) 100 10 10 .10 63
(8h) 230 19 19
HEHE £E 1,310 161 161 .10 86
AR 50 5 5 .10 140
= 100 10 10 .10 111
(&t 1,460 176 10 166
7z ¥ 30 5 5 .17 71
= 100 10 10 .10 67
(Gt) 130 15 10 5
EH E% 1, 800 360 120 240 .20 60 55
(H) 1, 800 360 120 240
LB B 1, 300 210 210 .10 71
(§1) 1, 300 210 210
v ia fec] 1L 60 4 4 .07 97
(1) 60 4 4
HittWE R¥ 300 23 33 11 48
(§1) 300 33 33
LR L I &5 210 53 53 .25 49 33
K4 660 132 132 . 20 35
(&H) 870 185 185
WAED = 7 . 05 541
GH) 7
HaErse KB 47 19 19 .05 1, 328 664
GH 47 19 19
T E  hE 90 14 14 .15 108
(8h) 90 14 14
By FEFE O OEE 210 53 53 .25 65
(D) 210 53 53




3 He
+ . = & (&RF) JE I T 4 5 ED 7 45 PAGE. .
4 £ 3 B 4 8B (&EH) A NS i EfE - E - LZfE GHERB R OH SHEERE L3 Z 5 )
w4 FEE " ﬁg{ % ) fﬂz *ﬁﬁﬁi{%l s . %f U] qjﬁzﬂ_g%l S - {%ﬁ ﬁrhﬂynﬁ%l ;
RS A FIIL 30 300 300 10. 00 3, 321 2,214
(GDH 30 300 300
F—T N TAUS 35 595 595 17.00 7,236 4,212
(GhH 35 595 595
35 H TiE 260 600 2,600 | 10.00 1,296 756
(&h) 260 600 2, 600
AL AR L 1 10 10 10. 00 4,207
(GH) 1 10 10
BHROR Aak L 22 220 170 50 10. 00 4,428 2,989 4,536 3, 888
(8H) 22 220 170 50
Fagy  HI 36 180 180 5. 00 1,404
=) 5 45 45 9. 00 2,160
(1) 41 225 225
L TAYD 4 68 68 17.00 7,668 7. 560
(1) 4 68 68
vataL HiE 28 280 280 10. 00 3. 100 2,657
(&) 28 280 280
&+ =7 212 , 120 690 , 430 10. 00 5,535 2,878 4,860 3, 240
7R 24 480 480 20. 00 3, 542
(GH) 236 , 600 1,170 , 430
B 57 6 60 60 | 10.00 3,672
(&t 6 60 60
T =LA [ 1 9. 00 14, 040
(1) 1
e 100 25 25 .25 465
%1 772 232 232 .30 605 421
= 70 19 19 .27 529 443
£ I% 1,090 273 273 .25 335 216
£ I 466 140 140 .30 605 497
HEA 920 230 230 .25 324 259
= I 80 24 24 .30 605 497
(h) 3, 498 943 25 918
S 74Uy 2 26 26 13. 00 3,564 2,786




T 2 & BH o R & #® & F (RFE)

JE I 75 2 2 dth )5 B e T 5 PAGE. .

& IEER B Gl o e T T B i g & Caw o T
T4 3 54 54 | 18.00 4, 050 3, 888
TIT R 10 180 180 18. 00 2,989
(h) 15 260 180 80
Sq T4y 5 50 50 | 10.00 2,376
(zh) 5 50 50
TRHE  Axva 1 6 6 6. 00 3,672
(&) 1




